
3 'qn libxz - dcica dwihnizn
zibel zraep "dynl xefri `l ipcy e` dynl xefri iqei" dpwqnd m`d ewca .1
m` dynl xefri ipc" ,"ywai dyn m` dynl xefri iqei" :ze`ad zegpddn

."cenll ligzi dyn" ,"cenll ligzi dyn

:fnx) .A4B = ∅ m` wxe m` A = B miiwzn B-e A zeveaw bef lkl ik gked .2
.(dlilyd jxca dgked

:zicbp `nbec ici lr jxtd e` gked .3

∀A∀B∀C. (A ∪B) ∩ C = A ∪ (B ∩ C) (`)
∀A∀B∀C. A4(B ∪ C) = (A4B) ∪ (A4C) (a)

∀A∀B∀C. A ∩ (B − C) = (A ∩B)− (A ∩ C) (b)
∀A∀B∀C. A ∩ (B4C) = (A ∩B)4(A ∩ C) (c)

∀A∀B∀C. (A−B) ∩ (C −D) = (A ∩ C)− (B ∪D) (d)

.P (A) ∩ P (P (A)) z` meyx .A = {a, ∅, {a}} .4

:xear A4B z`e A−B z` meyx .5

B = {1, 3, 5, 7, 9} ,A = {1, 2, 4, 5, 7, 8, 10} (`)
B = {2k − 1 | k ∈ N} ,A = {2k | k ∈ N} (a)

B = {x ∈ R | 3 < x < 5} ,A = {x ∈ R | 1 ≤ x ≤ 4} (b)

:zicbp `nbec ici lr jxtd e` gked .6

∀A∀B. P (A ∩B) = P (A) ∪ P (B) (`)
∀A. P (A) ⊆ P (P (A)) (a)

∀A. P (A) ∩A 6= ∅ (b)
∀A. P (A) ∩A = ∅ (c)

:zicbp `nbec ici lr jxtd e` gked .7

16 ∈ {n | n ∈ N ∧ ∃k ∈ N.k2 = n} (`)
0 ∈ {x | ∀y.y ∈ {x | ∃z ∈ N.x2 = z} → y ≥ x}} (a)


